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Dokument mit 21 Aufaaben

Aufgabe Al
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
filx) =1 filx) =
fa(x) = 0,25 f2'(x) =
f3(x) = 10° fs(x) =
fa(x) =a fi() =
fsG)=b" fs(x) =
fot) = €? fe(©) =
f7(t) = 125x f7(©) =
Aufgabe A2
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
filx) =x filx) =
fa(x) = 0,25x f2' () =
f3(x) = 10%x fs(x) =
fa(x) = ax fi(x) =
fs(x) = b~ x fs(x) =
fo(t) = et fo®) =
f7(t) = 125xt f7(t) =
Aufgabe A3
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
filx) = x? filx) =
f2(x) = 0,25%° f2'(x) =
f3(x) = 10°x* fs(x) =
fa(x) = ax® fi(x) =
fs(x) = b~'x® fs(x) =
fo(t) = e?t fi() =
f7(t) = 125xt3 f7 () =
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Losung Al
i) =1, filx)=0

Leve/ 1 - Grundlagen - B/att 1

f2(x) =0,25; f;(x)=0

f3(x) =10% fi(x)=0

faiX)=a; ff(x)=0

fS(x)—b 1 f5(X)—0

fe@® =e* fe(® =0

f(£) =125x; f7(6) =0

Losung A2
i) =x fil)=1

fo(x) = 0,25x; f5(x) = 0,25

f2(x) = 105%; f3(x) = 105

falx) =ax; fi(x)=a

fs(x)=b"1x; fi(x)=b"1

fo(t) = e2t; fL(t) = e?

f7(t) = 125xt; f,(t) = 125x

Losung A3
f(x) =x% fl(x) =2x

fo(x) = 0,25x3; f)(x) = 0,75x2

f2(x) = 105x% f{(x) = 4-105x3

fa() = ax®; f{(x) = 5ax*

fs(x) = b~ 'x% fi(x)=6b"1x5

fo(®) = e?t; fi(t) = e?

f7(t) = 125xt3; f;(t) = 375xt?
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